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SECTION - A/3 - ®fst/ & - *INI/& ~ R/ - W

1. For each question given below, four answers are given. Out of four, only one answer is
correct. Select the correct answer :

BT 2fstot 2T sIfAttT Swe i og | BIfRE fooes ma Wby us Sed !l B
et A1 Bfenaar -

Moz A4fs avrz R s oo 6T AR HHEGT foow wa  afl o= Tod|

o% Sedlb @UZ 718 |

et W SR SR e 2 € ARt aee dede’ 16 e 16
[EEEIRtcIksipele el

3 fau U yE oA ¥ fau =R oW e T ) =W d ¥ e T SW e ¥ 9E S| A
g :

(a) 10 mL of a solution of NaOH is found to be completely neutralised by 8 mL ofa 1

given solution of HCL. If we take 20 mL of the same solution of NaOH, the amount
of HCI solution(the same solution as before) required to neutralise it will be :

NaOH &@ 95 10 mL 4 HCl &a 4G1q 8 mL F=jfacst i o1 fi wfie
TG NaOH 3T 20 mL &8 (ow WiRfF omfire sfaater @1stt HCl mae (SisiE
CTte Q0T &4) “Afame =27 :
NaOH &3 10 mL HCl B34 8 mL = @ef oifie aa1 i st @33 NaOH
@A 20 mL 7, ©eet ufg 2iiie Fa19 Sy grareE HCL a@d (9 7o 93
) “fame 77 -
NaOH Tfetema R 10 mL @ HCl Tierera BAfT 8 mL 31 39S Agen sierd! |
Jfs S T@ NaOH Tfaam@af 20 mL @&t 3Tl S@l Heel GdH! T S
HCl TTfermafa (famifs aifg @ nfaere) faarest s -
NaOH 1 10 mL fe@d, HCl % 8 mL faoma & quia: 33 & <an €1 3fg &
NaOH ¥ 3t foread & 20 mL o a1 38 33M1H % & foe HCl & 36t faeraq =i
fopat AT Y STETEehar B ?
i 4mL @) 8mL (ij;)/;L( mL (iv) 12 mL

(b) Which of the following methods is, suitable for preventing an iron frying pan 1
from rusting ? ‘

(719 BraT (iron frying pan) Q47 WINGE 4319 9T IR ITUILT Bo19 (FIFOT “A=ifs
TG IR SIGAT TAIB 47T (ATH 51 FACO IET AIGA (@I AT SAYE 37
|RF e IREE! AR STHEHE Qg Mo A1 STEs Fewe -

?ﬁ%a?mﬁﬂ(fqmgpm)ﬂﬁﬂﬁﬁﬁﬁmﬁﬂﬁﬂﬂ?@ﬁrﬂm%?
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()  Applying grease
NS a9 S
NS TR FE
Y AR
IR GOy
(i) Applying paint
R TR I
% ITF I
" RAA
YT T
(iii) Applying a coating of Zinc
9 At T
foeT-ag dwersr @
TSi&f ol g
IEETCIR G A E T
(iv) All of the above
T gotmm STt
BoIEd SRQSTe
HISIERIEC]
FU & gt

(c) = Anatom has electronic configuration 2, 8, 7. To which of the following elements 1
would it be chemically similar ? _ ' .

(Atomic numbers are given in parentheses) =

qBT “&WIE JERRGAR [T 572, 8,7 | oW GNeT@iad @IMBIE BIte 2419
JPTIRIA STy A1 ?

(TR TowTo Armtafas FRuvfEre fmr txg)) |

GG AT RCTRGAT AT [T 2,8, 7 | Fiva aiesteTa @HET 3w 9T
AT APE W@

(7@ oo Amafes TS manr )
A TR AR TR S 2, 8,7 | TRt Qg eReT wEe A
A RIS @i 2 (4=3eTe TRt s 3 <))
T Y 1 SR o 2,8, 7 %1 11 ¥ oy ey 3 ey st T o
Bl 2 (T Hem e F 9 §0)

@H N@ (i) F(9) (iii) P (15) (iv) Ar (18)
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Amaerobic respiration takes place in :
TS 9 7e9fbe =F ¢

T ¥ 1g9ibe 2 ¢
IRAfEfafa giemm el S -
SATFATT T Bl @

(i) Mitochondria
RIEVECTIS

B EUAIEIITCR (0]
RIECACTEER DIC]
Al §

Nucleous

(SRR TG)

@

IEEIEILITIC]

HIRTHDHR H

(d)

(i)

(e)

thyroxin hormone ?

(i)

i '.;g@
by = ':
14

G

Chloroplasts
G F A
@IAIUNE
FU AT AT
FARE |
Cytoplasm
(SO0 B M)
AT
ISEliciEIC]
iR |

(iv

Which of the following disease is caused due to the insufficient secretion of 1

©od (PIFNY (JI5T YRS 290’ TAYS e ${e @ I @
NEa @S @1t AR weT Sy wfmie wfae 1 36w o =7
TErAf Jrel @M s 415t ok gom sTRenyre faerere fafifafy aram s ?
7 5 Q1 W1, AT g % Suge A H T e e ?

Beriberi

[SIBISIE]
W@
SfEf
aS{-al
Diabetes
erciiy
SR
sEafed

YR

()

(1) (iv)

C3-51-B20-GS

(ii)/Goiter

SIgeT (st
519eT (q1st

~

M

Dwarfism

ForETsit
R
CIESIESI

EIRINE
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(f) If a cross is made between the plants having TT (tall) and tt (dwarf) genetic
composition, which type of plants we will obtain in the next generation ?

ﬂﬁfﬁﬂsﬁwﬁew(n)mmm(ﬁ)g@mmmmq@miﬂ,’F?r‘?@'CBT

TSy TS I (FIF 439 g AW ?

af feArm sy a1t (TT) was &= (t) FT oM=A rntal 2a oIl 2,

AGTG! Oy ILTT ST B LA 1R A2

Sife IR 1o Tt (T'T) STRY T (tt) T Forhifes TRl Sl STrrer e et

AT FmmE i AEmiA o A/ 2

af w3 (TT) e < S (tt) § oo awen I o gl g el a8 9 2
Tall (TT) and dwarf (tt) both :

8% (TT) I B9 (tt) TR 4991

o/ (TT) Qe WEFIT (tt) G YA

TSI (TT) ST T (t) W JEm

& W8 (TT) iR S 9 (1) S e

W

(i)

(1)

(iv)

C3-51-B20-GS

Only tall

@] 89

e <7l

e e’

EEEASC!

Only dwarf

3ge B

@ AP

arfe eEa’

Fad =

None of the above
89T (FIAT 42 927
oA @I AR T
TSI Faa 77|

S A &G A TR
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() Which of the following lenses would you prefer to use while reading very small = 1
letters ?

YT TF & HYFEIE ATICT PN (TN (TR TR FEacer RFwifar?
Y3 CRITOT (RITBT W AGTo 20T R T 4R @Y IR FACS B
St e o siererd! wEEl 9Ed TEEE eH[ |l A JEmi S aeeE
Al ?
TET DIR-DT AeRi 1 Ue T A B F | B W A Y F 2
(i) A convex lens of focal length 50 cm
50cmmmda@wm
50 cm (I ndd S@ (ET
50 cm 'S SR T8 @9 o
50 cm PIFHH T 1 TH I06 A
\_(@/uf-\ convex lens of focal leﬁgth 5cm
5 cm 'R 9T T @Y
SCmW?WC@@GTﬁF{F[
5 cm % ' SHAEH T8 W S
5 cm WIHE 0 1 TH I o9
(iii) A concave lens of focal length 50 cm
50cm¢'mmwm
50 cm (FISRT AT SR (@
50 cm "6 STHAEM 1] Wled o
50 cm RIHY U 1 TH 31T o
(iv) A concave lens of focal length 5 cm
5cmfﬁ’aﬁ‘itﬁﬂ%Wmﬁ[§
5cmWWWm
5 et W T TR T T
5cm@$ﬂ§ﬁﬂ@%ﬁ'ﬂ



(7)
(h) The change of focal length of an eye-lens is caused by theactionof the 1
o< T o frwi A1 539 o TR onda ARTST 28 7
(IR P ST R Sy (BICAar (T~ I Ty AifRad =4
Wﬁmmmmﬁwﬁﬁﬁﬁmﬁmmmmmm?
e S 71 e g0 A TR R |

(i) Pupil (i) Retina
B Wi SFEAT -
coTeda wf wIfwe’
. (i) Ciliary muscles - (iv) Iris
/ fofermst corfy ' 594 Aol -
vaady AT g | : trﬁmﬁw A
(i) Which of the following terms does not represent electrical power in a circuit ? 1

Wex @[ 7RG @pfes wwer ATt s [

TR w1 R T drerrg e T fafe ?

e % & w7 1 72 g wfaw 3 Fre o <) Fref 8 w2
IQ/IRZ i) IR

(i) VZ/R (v) VI
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()  Which of the following constitute a food chain ?
oo STErY FI1 @AAAE AT 2T 5169 HI 7
s Sl @RQET 4 el 5167 FE?

e 7@ 7E AegE sy A g ?
1 & | FF R S@en &1 fmion w €2
(i) Grass, fish and goat (i) Goat, cow and elephant
Iz, WE S Forer ST, SIF SIF et
I, TR QI JIseT wIsie, siF Q3L 3ife
T, 1SR SR ST, T ST HT
U, A3l 991 SRt TR, T 9T gt
(iii)//'Grass, goat and human (iv) Grass, wheat and mango
qfg, eIl S TR 1z, (7 e om
T, RIS Q@3 TIFF q, 51T Q9L S
T, S ST A T, T ST TSl
o, FHL q T T, A 99 37A

SECTION - B/ - @t/ ¥ - *IMt/@ - |EFiT/@ - 9

2. Calcium oxide reacts vigorously with water to produce slaked lime (Calcium hydroxide). 1
Write the chemical equation of this reaction and mention the type of this chemical
reaction.

TR ST AN Gies Sigeia ffiwar i fifiers 5 (slaked lime) wwerfiam

G TG TeAT (T | QEMW@W@TWWMW
Sy 97 o

Wﬂwmwwﬁa@ﬁﬁmmﬁﬁ%w (slaked lime) @yerframy

TGART e w1 a3 Rcwaifba e 5w @oat was Rfwnita o
St T | |

mmﬁmmmwma@ (slaked lime) FafeaM™ TR FaES
@nﬁmﬁﬁﬁmmﬁwmﬁﬁﬂmwwmﬁﬁmmﬁﬁ@h@w'l

WWW%WﬂﬁW@@ﬁWW@@%(WW)W
o s 1 mwﬂﬁmmmﬁmwwmammﬁm%mﬁf@q?
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3. Define allotrope of an element with examples.
THRICIE CTte O Qb1 ‘q2@!” (allotrope) I ST ferat |
TwaE 9Fb AN ‘TZR (allotrope)-9d JST Al
fafefersti e HHAFT Tewi (allotrope) 1 gwRf fert!
e T F R Y et 7 %) AT (allotrope) F I ferrEgl

4. What is Catenation ? %;,E 1

WS T @I .
T plasty

ot wrEl 9212
ST (catenation) fFd Fed €2

5. Why are traits acquired during the life time of an individual not inherited ? 1
m@@mmwsﬁaﬁaﬁmﬂ%wﬁaammmm
RETNG
TG ST SR 36T sfewet sififas @afies e agefs e Arear TR Al
97 :

e R SRR e B wgen et s T 7 SRS S ?
@msﬁammﬁﬁamm:mmﬁa‘m@mﬂﬁ@%%,aﬁ?

6. Why do Stars twinkle ? 1
a1y feafax 577
siar Reie sE| @ ?
zrerfEwraE! w1t fifg-fer 3481 2
R i fenfenm € 2

7. Translate the following statements into chemical equations and then balance them. 1+1=2

oo SReomyR ITARS TSI BAG fordl S FgeT 7|

Steea Sfgonya aPTafE THIeAT Heel @ET0AT 9IRS FLAT |

TRty g TEE FHFETES fet SR Ay e |

e FoET ) TEEE THIE % w9 H gfEfdd $ 3% Saied it |

(). Hydrogen sulphide gas burns in air to give water and sulphur dioxide.
Y’ (O FEATAS IS WfED (2 A SF T TR STRAG ST I |
RGISH FETRG YT Fixe T ST 92 AT TR SH3E ST I |
TSI TAFERESH IHE THAM < 2T HEHR SEAHARS |Qafserd |
TSI TEHES T 1 9g H Ted TN W 9 T Hohl SRATEHES 99 ¢ |
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() Potassium metal reacts with water to give potassium hydroxide and hydrogen

%mﬁamﬁmﬁﬁmm*WWM'mcm
T I |

BRI Uiy Ste ST AT T ABIFRm IRGRIRT |Ie FRCgIesE AN
Teo FE|

Terfa geT S5 fRsTaR ST TR g eSS EEg S W SraieE |
ferm U Wt W SR wOE G eReaaEe U wEeee i <l ¢!

8.  You have two solutions, A and B. The pH of solution A is 6 and pH of solution B is 8.
Which solution has more hydrogen ion concentration ? Which of these is acidic and
which one is basic ? 1+1=2
TOM Z[o® A iE B Y01 53 Mtz | &9 ATpH I W6 S &I BT pH INHF 8 | (FIAO!
a4 3G’ (S SRS Spe! @R? (@A SEE S @A HEh ?

TOMIA 2/0s A 932 Bfb &3 37| TF A 99 pH -9T W 6 WI2 T B @9 pH -9F 19
8 | I Hafbre RGISH TG Spet @R @A wnFs 932 @EG REm?
A Sr@ErEEE A Rl B Hi ferend & | ferers A f1 pH 1\ 6 1R nfeerma B fopH
A8 | Tl T eTeTene gisg S ST Wsifer ifa 2 W qfasanft s/ e @R ?
Yk W < foeram A7 wd ‘B ¥ foer ‘A & pH 1AM 6 % T e ‘B’ % pH w1 WH
8% | e faera o TRger STRM i Higa i &2 390 4 21 ol £ a9 1 aE ?

9. Draw a cross section of a leaf and label it properly.
G Tog Aqrmn S 9F O eed ke wat |
GG Mo 4w ST W32 Gift sl BiEs sl
8 faamf gme e onfE ol S 19y T 9
T T o AT T Fo AT e gt 9 &1 vz
OR/A1%3t/=IAQT /TET/ 3Teqan
Name the green dots contained by the leaves. What function do they perform ? 1+1=2
Afoe AT CTESIAT REIET 9 forat | W3@E 5 a0 eotwd wg
AT A A T@fed TN @A g 5 st awlty 5@9
faretrgame o Ml AR § faw) aeR @ amit aaee ?
ofedl # T S A & feiged 6 A a4 e w1 €2
10. How does muscle cells change their shape ? 2
TP @ERE O S1Fhs Ay Feg 7
TN Fel@ O SIghs Afada s
fafy forefan Tt 3 aEeE 9 392
gt TR S ST ST H TRad et 2
OR/Af&at/Srarat / qait/ et
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What is the importance of iodine in our body ? 2
S 8 SRR g R |
HWITA @ AT 9Fg 9
St Frers st diferr =1 ?
TR YRR H TN 1 s/ eavasa €2

11. How reproduction through spores is beneficial for an organism ? 2
R 7T ILRBIT ST @A OF KL I @A FSRE T AN
@IF AT ILIRBIT FaAT (FIET 9F SIE@E A7 POl AT 06 AT
T TS W ST S AR S fort ATEr S G A ST e ?
S gRI W @ S fRg R anfed g g ?
OR /1331 / 143t / Tt/ Sora
How does Spirogyra reproduce ? ‘ 2
=s{f2q’4113q1R, @TNE ILIRWIA B ? ‘
=AIZTASNRAT Froid IL-RBEA FE?
T IEAET HE e e ?
T TR YR S A § 2

12. Draw the ray-diagram when an object is placed at twice of the focal length of a Convex 2
Lens.

el (TR WITT [T F'FR [@age 4t TS I B @ ifba Siew 41 |

aFfE T @(-9T FIBT @FIFR] GA0Y 915 T @l Gifba @9ifba oiFs
@t

T o TR AEE G HE SHAREE S0 AR ga {9 a9t A g e |

T W fega &1
OR/7123t/ St/ W&/ AT
Define power of a lens. What is its S.I. unit ? _ 1+1=2
(TR O AL fordl | RIS SI 9Fd 617
TP~ 99 eI AL ETCAT| 97 SL 9FF 7
w=af R gy fax ) af .1 |rfean A2
fordlt < =1 v =01 wfonfia i) we! S.1. W R IR ?
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13. A current of 0.6 A is drawn by a filament of an electric bulb for 5 minutes. Find the 2
amount of electric charge that flows through the circuit.

BT (AT I SRt 5 WAT 5ES 0.6 A 9J1R &7 | TSNS BifeTs @[T @PFo?
wretae AAfmie Sfraar |
3Tt tapsfess aicaa s 5 Rl oW 0.6 A 9417 (W1 IT6ANMbro bifeTe 28T @
S AN @F F@v)
11 Tifec Ses qRaT 5 fifE TG 0.6 A Tifscis SRR @ SiERuRaE S At
qreif foai fega |
feneit ferega srewl o ag & 9 0.6 A forga om0 5 e e wanfed €ieft €1 fore wftow @ wenfed
foea stmaw =1 o 9| Fifew)

OR/7i%3t /=Yt /q&T/ 3terar

How electrical charges flow inside a wire. Explain. ' 2

ARAR ot foode @pfes S @ daifs w7 st < |
GFis AR feew @pfes s Serm oqifks 7 B FET|
< < st Aifser grsten wreit Side - a8a
fersit farga aftay A foga oW 9 yarfeq €9 €7 vl wifs)
14. How can you help in reducing the problem of waste disposal ? 2
AT SRS RN T BT o R ormet st it 2
MG TSI TP 20T 3900 0T B B MCF A5 FAE@?
3nfe; STeEATEf S AT A A7 RS e 2
39 = 9 ht T 9 S H H AN R GE § 2

15. State two problems caused by non-biodegradable wastes what we generate. 2

il 78 =t Gia e swrReres st et 551 wenE Sery a1t |
SN e Tl G ST e @ 168 4G e Sy @i
i G faeni Farnife sufarrfrmg smm 9 s T
Tl < THE ST SR g S e Pt e grr s 3 ¥
16. What is the role of the split rings in an electric motor ? 2
Q@gfss bas Felr gl gt e

@TfeF b T A1 G S Bt $7
T Hifsrs 7w fowre R @ a1 ?

feregga et o fawem 5613 (split rings) w1 T e 87
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17. Take a small amount of copper oxide in a beaker. Add dilute hydrochloric acid slowly

while stirring and answer the following.
Q1 fIF1TS ST F° 1T ARG (=TT | WWWWWWWWWW
Wfew @t Tt ST Bele il AEed $es 34T |
@15 R S T oG Al Reerafl ATsire Areis oifbs A A =T
G IR SHIRTSG st sl «ae S moar drafe S8 ol
74 fawma 38 fomift #uR shuRe @ forerrcel ArTEEE AFT A A e
TS T i TR SR SR e B S R Sl |
e 3 i e s | foe ) et g T ofit-oft g gt
I Bifere | 31 = el o I dife)
(i) What is the colour of the solution ? ' ' 1
TAOIT T80T fF7
wafea a6 I?
HISEICIERICIR:
foerm w1 R ? :
(i) What has happened to the copper oxide ?
3917 wHiRee ¢ 9fbm?
FOIA SRS T AOR?
FUR FFESIE TT SR W6 2
YT S hl T g ? |
(iii) Write the balanced chemical equation for the above reaction. ' 1
@o@q RIFAIHR IR TERTE (balanced) IR FHFICOT foral |
Soiaa Rfwaifta o e (balanced) IPTRTS ST (eTeat!
Teify RFTSTEEERE arar F9g TEEAR gameEa fek |
It TEEtE sfufwEa & e ww i TamEfe g fafag |
OR/%31/SIJt /TaT/ el '

What is brine ? What is the product formed when electricity is passed through
this brine ? Write the balanced chemical equation for the above reaction. 1+1+1=3

I I @IT? @R IR TS Rype o SR e v Sestr g0 @oied
fafiFair 3@ 18feT® (balanced) IPTR THITIACT! ferar |

T 1@ e 93 IRET w9 oy e dqifze sa Fosmrl Sesm =12
Soa fafeafts o T8RS (balanced) IFTRAS SRIFIAT @A

o5 4@ 17 o FEA ToRSl Aifsed SRR dieEea 7 qar WEfeE 2 st
TR e R JmEr 9uy TEEATR qaHgEE! for |

ww%? =W 9TE 4 T Yafea v W R SO Bl R ? 39 SifuhRa & foe w
Hferd Tamate g fafan |

(C3-S1-B20-GS [ Contd.
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C3-51-B20-GS

(a)

. = Tt L AT, SR T e & e B e e
T R R QT R R e

(14)

A solution of a substance ‘X’ is used for white washing,
QBT 11y X’ T 7@F 3511 38 AL (white washing) IR5IT a1 57 |
RASIT TR T3 X HE@E G0 T IRRE ST 3T
TR g X T fereraat T e e SR -6
fordil waed ‘X % foreram 1 SwE Wikl Y 3 fou a4
() Name the substance ‘X’ and write its formula. a 1
MY X T AN F AT fovalt |
X T AN @I 932 9B S (eIt
X A 3T S e fow
T X T W e 36 g et
(i) Write the reaction of the substance ‘X’ named in (i) above with water. i
| AR OIS (i) © S mi X’ @ Far Rfwarsr forat |
X BT (i) @ Sfers) ST sreen s coveat
(1) 3T HIF X’ oSl 3 oo oy
SR (i) # T wared X' 71 w1 % wn aifirfiean fafan

Identify the substance that is oxidised and the substance that is reduced in the 1
following reaction.

oot RiFantrs wifie o= foifvs R bR ot at |
e fafraiim wfe vge frsifas zeat mtsET S e v
wmwmmmmmaﬁ;W¢
=1 safufsran & Suafm qu STqEfan qerdf it vgem Fifv
CuO(s) + Hy{g) — Cu(s) +H,0())

OR /A3t /o4t / walr/ sterar

A shiny brown coloured element ‘X’ on heating in air becomes black in colour,
Name the element ‘X’ and the black coloured compound formed. 1+1=2

aﬁr@m{:{ma@acﬁa'xwmmmwmmﬂﬁm CNeT ‘X’ 1 Seory
QI B 76T GAoMTBIa A1 oy |

«qaﬁ@@aﬁmaachacma'xuwmmmmm eI At ‘X
IR GRAT RGBT I 06T TN A1 CETCAT |

mwmwﬁuﬁw*xﬁwmmwﬁml e X fr g
mmwwmﬁg@m 3

@g‘{r‘nmwﬁmwﬁmﬁmﬁﬁmmwmhmam%
A X T S B G Ao o g
"\

| k [ Contd,
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19.

20.

(15)

(b) Why do we apply paint on iron articles ?
T4 IS 8T et fire fsw?
R fSHeT aue 7 A@st @ aar =7
GRS ST ST SEIEHRTE e G T <l /e 2
e =l =gl =i 7 Yo = F ¥ 2

State Modern Periodic Law. How could the Modern Periodic Table remove various
anomalies of Mendeleev’'s Periodic Table ? 1+2=3

SR SIS STt R | oy e sl orefired Afiqs Sifers 3T
ST R 5 Fafke ?
ST SRS s eTAn SRS RS Sl eefied AHYS ST ATl
Fioaf P 77 e

e SR el for | T SR e e ATt TR o e - T
TER SR BRI ?

anyfer e fram s &2 WWWWWWW@WﬁWWﬁﬁ
Tafay fadmfaal 1 g2 forar @ ?

| OR /X3t /S / TN/ AL

What is Newlands’ Law of Octaves ? What were the limitations of Newlands’ Law of
Octaves ? 1+2=3
frGreTernT oIEs @Dl 50 FSETaRy BT @T ANReiE & & e ?
SIS -9 S2F @i I17 OIS (- 9 TES WW@%%@%?
Sradrveafy STy Tt W2 Freeveafy AHy witaft SREEE™ | A 6 2
=[efe o1 T fagia o1 82 =Jefe % ot fogid A I HA E?

What is Pollination ? Is there any difference between pollination and fertilization ?
How does self-pollination differ from cross pollination ? 1+1+1=3

qummﬁs? WﬂmwwﬁmmwﬁmWW? F- SIS ZoF

~SARITCIoN, 18T (T R ?

TSI S17 AT WIe THEEET W @IEAT Sy Sy I -9 Qisicarst

Fwq eI cvmv%wrw @7
ST AT 2 ST A ST T St o WA R S 7 SRR e A

a@ﬁmmwﬁwun@?wm7

ﬁmw%? 1 ST foran iR P ¥ 1 e ? mem@m
mfw%7

OR /7133t /AT /T&AT/ AT

.C3-51-B20-GS [ Contd.
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(16)

How does menstruation occur ?
AT (FTANE NHvo 2717
HObF IS Mo A7
WA A S ?

FgeTa AYa TigH H T e ?

21.  What factors could lead to the rise of a new species ? Explain. 1+2=3

| W@ﬁﬁW@QWW@%%@WWﬁTMﬂWWI
Tgd deifeg [ zeum o 5 5 P waSE? - AT AT
SRR H e g St el ? 5ed |
I FR Y FE § S T v S Squa s e § 2 FAvid S|
OR /1331 /=131 / T/ AT

What do you understand by geographical isolation ? Will this be a major factor in the
speciation of a self pollinating plant species ? Why or why not ? 1+2=3

TSIt cal ARSIt geTe 5 qeie F-Awewar 9ot Sfew awifs b 91| }
ASfoPaers GBT 4419 Tl 2'T AwE? 67 i a1 dg @ArrE?

| SIENTTSE 18T AIFFAT 6o I @RI7  F-o[ISTAS 961 936 Slew astfisa

‘f oo Fpq awifsg 38 Fate ivlfas RKitegs! IRT 6 A F17 @9 I @F
F77?

BIGAR F[&1 ™ S Teen |1 o 2 9 gRIE S T aRw SE e s

BN &1 ST H=8 TETE S A1 2 | s 91T e 2

I imiiferer gUahol ¥ 99 WA © 7 9 i gueenton Wy S ¥ die ¥ sfa-

I 35¥E 1 TY@ HRU & Gahdl & 7 i A Fl A ? S

1 22. Name the parts of the human brain. State the activities that are controlled by the
| cerebellum. 1+2=3

WIES NRE%T PR AW ferdt | oRuaeihi =t fafs feareetsrmg o s

T TR ST AW @ Gifasion w6t frfis fraeeys o
Fel |

TRfarT HEmfT STErERR F o | S S Tee Rt 8 |
e AfETeh <6 9T <k T fafee) saferss g frafa firms @ fafag
OR /7133l /St /q@/ terar
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What is auxin ? How does it aid in the growth of a plant ? 1+2=3
ST 7 QUi g s X @EmE s FE 7

S F17 9 siteg {hacs aft St s Fw@? :
AN W2 i Forehi Jemamer sreft Wi weg wreir ?
S 1 7 T8 TF TR B i F FY TeEs qw e ?

§
k
i
-

T

AT TP TN

23. What do you mean by Dispersion of white light ? Draw the ray diagram to show the
dispersion of white light when passes through a prism. 1+2=3

BRI cﬁmﬁv@qmﬁﬁsgﬁr? oo At 381 (AEa [vgeT aﬁnﬁﬁ@aaﬂwn

ST STt favgad Wi § @@ oo arat s st fegacta afifba srEd
F@l|

TH TR SEHEAR g et W g 2 st i T SR STt e Jremi e |

& TE 1 I8 5 Heers =¥ 2w e g @ weR @ fadoe & 1w
Y|

OR /71%3t / 1At / T / 3er&m
What is Presbyopia ? Draw the ray diagram to show how Myopia is corrected. 1+2=3
et 5 faeh qfRdwsrE sieriyd (ryaiR IFIba SIeHT 4T |

et $17 feh yfesaser Ao eiiw afifea SEd Sl
e i |71 ? Wiy JuRE! e wREAE S aEt fefe 7 U qemi i |
w1 ggftear 7 & 7 frene-gite I & weieE i @ g T R o SR

24. Write the S.I. unit of resistivity. An electric motor takes 5 A from a 220 V source.

Determine the power of the motor and energy consumed in 2 hours. 1+2=3
WS S.1. W3PS foTdl | WbT ([@pfed A0 220 V BT A9 5 A 2q% o | WOIWIE HST
e 2 06 3 IW 341 1 Sferaar |

AP S.L. 9F (0T 9Ff0 (@pfos oiba 220 V &T (E 5 A 913 (| (W1Gafsa
el Wqe 2 9O aft I T4 e @F i '

Tz gty S1 WfE few T e wew W 220 V ARARHR 5 A Se
Tt ME ST 2 TREE S SEei arr feat g |

gfergenal &1 S.L TTh F1 ] ? @ﬁgﬁﬁazzov#ﬁgﬁ@ﬂﬁSAﬁw YR O
Trex o vifea Fifia ST Tem 2 s H Aiet g1 g el qiehier shifag |
OR / 7f%at / S(AQt / W& / 37
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What determines the rate at which energy is delivered by a current ? An electric heatert‘
of resistance 8 O draws 15 A from the service mains 2 hours. Calculate the rate a1+2§3

which heat is developed in the heater.

Bt tagsfos 2aTE Qe wat e 7T R0z field 37 8 Q @INT OBt @PToP FEIR
2 901 BLeTS (W3AT 191 15 A 291 o7 | GEfibre Sief Seofa gt 719 Sfersar |

93fG apfes a1ty ansi €@t fea 29 FrelE faws =7 8 Q @WiEd Wit @APfed
peil (f30) 2 961 belte (37 (@ 15 A 211% @91 paifoce (o) wrer Seaa 3831

29 @9 FET|

T Hifewd e A wfH R A B ? 9 wifeds e st g 8 Q S
2 T2 TfE e 15 A Hifsds IR S A | 8 S¥e gk f5g siemars! g |
T weite gr ug s T S bt ot o Feieor R A g 2 8 Q wieiy v i faega € ferp
H A 26 q% 15 A g um dq §1 € | S S X IRefed Hifeg

25. Explain the main principle of an electric generator by drawing a labelled diagram.
fofzs fowas srarre bt Rpfes csarabes go7 Aifo avay a7 |
fofes fram sren s it pfos b g Tifs st T
TR ool §IHT Wi SREA 74 Hifsers Se e @erd) awde |
iR 3R i et fagd 9 (generator) 1 a1 fagia v Fifew)

26. Can any sources of energy be pollution free ? Why and why not ? State two limitations
of the energy that can be obtained from the Oceans. 1+2=3

e BT GBT AT & 57 MAE? 57 oMMz 31 By @E? TRPIES A9 1T S[T
“MF 701 ARaet forat | - '

9BfG *1FT T 2739 TF 200 AE 7 @ A Al @F 1T T2 P E (ATF 21
“feq 4o SMmer @ '

ARt SafEsan $Erd TS #fa @R grE 1?2 T T e e ? AER R
H1 B9 Wt W gt for |

1 IS Sl Wi TGHO T & Weha 87 4l steqar i A2 TR & 9T & HHY arelt
Fettait st < HiATd = ) -

27. (a) Name two metallic oxides which dissolve in water.. 1
WWWWWWWW%—Cwm
STeT TS 26T G 467 SIHETST A @A
<are TIfereAiTa I U1 STEst 1 fom |
5o | faem @ H@ﬁ%ﬁﬂﬁ@f%@ﬁ@ﬁl
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(b) W.hat chemical process is used for obtaining a metal from its oxide ? Explain
with examples,

AR 13T My Georm Sfale 5 IR Faho 2@ $a1 W7 GRIFALNE OO
I 4T |

ST (AF 4Ip S FAI9 T e qIAiG Amhe AT Fa 2@ SHRAPR
TS Al |
TR Y A ST S AT W IEEER A e s 2 fafeh
BAM S | ,
“@ﬁmaﬁwﬁgﬁmaﬂﬁ%mmmmwwmw%?
ISTET A JUA T |

" (c) Youmusthave seen tarnished copper vessels being cleaned with lemon or tamarind
juice. Explain why these sour substances are effective in cleaning the vessels.

Wam$mwma1@“cﬁ(tamamd)wm%mwmmﬁw
iy | Sftafee Afiwie SRAc (GerSToR 78 5 IRET I IR fordt |

fref wivlg @ 7Y I SoEr W e AE T A ©FAr [ eI
ST ITeT ARFTT TS GosToly I8 (7 I92T AT W I (AT

ﬁwmﬁmfwwﬁmaawfmwﬁﬁéﬁﬁwwml
T AR TS I GIHATA A e ] o |
S T o Tl A W A A gHe % T W W HA ST <@ ENT | DR CER D]
39 1 9rE FA T Fb g 87
OR /«1%3t / =14J / W& / AT

(a) Identify the most reactive and least reactive metals among the following : 1
o7 FRIERT Mo #a1 SiiRete @ T (most reactive) HiF SGESIF TN
SfFg @ b 41|
AETF BT (AF TG @ AET (most reactive) UIL HIAE IW AFT
Ko @TeT JFAIF FAT |
e EFEERE TeRfAEE St Sifee wim o safrgs an i urgeraEr
TR |
frefafEad Qe s sffranie o o wa sfufwania agsll ®t el
Al K, Cu, Au.
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(b) Define the following terms with examples.
TSRIZETTE 70 wele TAEIEE et fordt |
SRR, e QT 58T (0|
fafafersti rmame @meR ER fat)
I R FrreAfefadi @t aftam fafa
() Mineral

aiers

TG :

(€)  Explain electrolytic refining used for refining of metals. 2
YT O] AT T RpR AR srmfstsr ayrast w1 |
YIQT CTHS & IRgs iR AR srmfsls awrast st
HIIPRA HIGHRI 4R e e it fafe si S sreed 399 |
mgaﬁ%vﬁwﬁﬁqamaﬁqﬁwmwaﬂhﬁml

28. (a) Draw the structures of the isomers for butane (C4Hm). ‘ : 1
(C;H, ) REGFT sefiies stisaorecas i |
RS (CyH,) SweaiiaEs b7 Jews o)
oAt oM sreTafaeReT gem e St |
(T (CyH,q) F THEE Ht wEA faf i
(b) What is substitution reaction ? Explain with example, 2
AT e s @ie? CRIRICIE IS I 5y |
Aot ffFm s awEr AR, I35 0T |
G frmsters wra 92t ? fafefest Sug |
i AfafHa =1 ¥ 2 SeeRw S vl Hifu |

H, ould distinguish i ' '
(©) aC?;v?w wid you distinguish experimentally between an alcohol and carboxylic

AT TS G520 O PRI ST Wrow sitew

. R FRETE! T fafory
Wmmmqﬁmmmﬁﬁwm ,
OR/W/W/@T/W W%?‘,
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(a) Draw the structures of the isomers for bromobutane. L
I REGR i s Fes St |
TR T WM 557 72@ws S5 |
& o3 T SR feRT @i wemi st |
SIS % T H1 g fafa Hf |

(b) How does ethanoic acid react with carbonates and hydrogen carbonates ? Write 2
the chemical reactions.

AR afrs FHED ST 2BY’ (oW FREDT dots femed it @ e TR
Tl forar |

AR INIRTT FHEE 992 TZGISH FHEDT S0 Feld [IEd IW?
apTiG RfFTISTET @
SUFTTF TS FEHE o SRS HEHes] AEit ey e 2 TEEEi
frsemswEt faw)
e I HENE T ARSI FENe ¥ Y R w7 T TEEE
Tt fafan)

(c) Explain the mechanism of the cleaning action of soap. 2
Bt 7T SIeE@ER ofi@dl (cleaning action) 545 F4T |
sTraTee Wt Afawies dfFfh (cleaning action) IFTST FCAT|
HEMA A GHIfE! oEd |
T 1 W6 R & TRty HemEe

| ~ |
(21) |
|
|
|

29. What is “Biological catalysts’ ? Name two such catalysts. Discuss the roles they play in
our body. What is the function of the hydrochloric acid released by the gastric glands
into the stomach ? 142+, 4+2+1=5

“ro SEOFEE 57 9 Y01 SAo AW fordt | ST 19ee 3@ At 4
G ST 41 | A i ARFES fieiiie et 2Rysie afiss wrf f5r

o SEbeaiT 7 Qe 7 SIYEHCET AT ETCA | SR (19w Q@fera szt w4l

SR SIS ST sAipstfe AT ATEAN® 3070 26T RIGIEIRS sHifited

T 7

e SFeETauTR A2 Selfe Hi vt § fot St Seivs SeRrfy st

frprafy R weRE | it faeams s faf 3 s sl et amtE

?

S 3o F §? UH T S F T fafen) e wR A v il woee w0

e i fafa § Sufter wek el g o TR ST i 1 i § 2
OR/71X3t/ St / &/ et
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! How is food transported in plants ? What are the differences between the h_‘,—;msport.(:f2 +3a5
5 materials in xylem and phloem ? =
SfeR (e UM @A S1eaRT 900 7 WWE’@mmﬁml

&7

SR/UR (0 WTma 7337 SN WH?7 SUREN QI2 GFITN JE e Arfarafe
;I - _ =

TR ST AT T ST ? SEerd TR FerkeE Jarhri Jmensf e wn@nmm?
IRl H IS T e $ ST ¥ ? e q Yelen # werdl % 9eq § @ s 82

30.  An object of size 70 mm is placed at 27 cm in front of a concave mirror of focal length 5
18 cm . At what distance from the mirror should a screen be placed, so that a sharp
focussed image can be obtained ? Find the size and nature of the image.

18 cm TPl (TR SEweT A QU9 SFTIS 27 cm TS 70 mm ST I8 5T 737
(RZ | ACTTAAT AT 91 90 AT Q2T IR ©fe =={8ts 157 @t AfsREm ab
CIRT AR 7 eifoims Sem o a3fs fadfy st | 5 |
18 e (PTERT G5 T STa@a Tt AN 27 em TG 70 mm SIFET GF(E 77
T AR 7 U Fo A GG T T @i =gsiE ST 2eTr Gaie
afsfm steur a@?  afsfies oo was agfs i s

70 mm WIS F1 F1E fofd 18 cm BT 0 ¥ fredt TS YU WA 27 om T W @ ¥

| S & forrfl 0 ferel R ) T o v R g T e Whfe e foe |

| fafsiel 1 AES a1 Thia 9@ T '
OR/7133t/ St/ e/ 1e@m, | -

A concave lens has focal length of 15 cm. At what distance should the object from the 5

_ lens be placed so that it forms an image at 10 cm from the lens ?” Also find th
i magnification produced by the lens. What is the nature of the image ? F L et

; Wﬁ?{aawwmwlscmlmﬂawwrﬁ%ﬂWaﬁaﬁh
afﬂamr@mwwcm@%mﬁwﬁ%ﬁ?aﬁrmmmr S, EHzs
g =T AT fofm w11 ol agfs fe g

PG ST (@R @RPT 075 15 em | @ QAT T Ty

mmwmlﬂcmmm%qﬁmmwﬁm“ oAf - ‘
2631 3T fyefy s afsReffa g S0 O Al 9, @Teifirs

T8 T A ' SR 15 cm ,mﬁm10cmwmmw

ey fegd | G smgesar =2
Tt aTarel o9 1 $IHH T 15 cm | fofar 1 o9 & et ot @ i ‘
&9 ¥ 10 cm T R wfafes o 2 ﬁnmwmﬁaﬁmﬂﬁm m@?%?a:
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tribute to the
1+

31. Give two examples of Fossil fuel. How can you as an jndividual con 2+2=5

management of :
St 5T g7 Swrae | g e TR e
SR SHAT 716 Srimad Wi «sd e e I
e T T A fafafer 31 W wEE Y -
SHareet $u & < et S mwﬁaéﬁwﬁmﬁﬂ%ﬁmﬁww%:m
g2
(a) Forests and Wildlife

3 oNF AR

9 Q32 INAI -

FIUTH 3TRI A

o9 15 99 §q
(b) Water Resources

e

T

T g

T GEEA
Wemmm@mﬂmmw?
W@m%mwmmﬁm?
e T T AEE AT T g 2

. OR/A%3T /Y3t /T&AT/ AL

What do you mean by water harvesting ? Compare the traditional systems of water
harvesting between hilly areas and plains. ‘ 2+3=5

SR FwFA WA & g ? Wamawwwmmwwﬁﬁaam
Tafed NioTe gerdl 4 | . .

ST THBEN NI BT B @7 SRS B QL el BT ATHAINS T TBIA
Amfod TS PerrT Sl i

3 SRYETE gEYE W i 2 Ao e SR g e feaeee S g
fraapiE & Ay faarfermra T 1

e TR Y 19 7 T € 2 T 4l SIS &6 6 STl eyl it IR gGiadl i
ol it |
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